



### Nova Southeastern University NSUWorks

Mathematics Faculty Articles

Department of Mathematics

2-15-2002

# Differential Equation of Appell Polynomials Via the Factorization Method

Matthew He Nova Southeastern University, hem@nova.edu

Paolo E. Ricci Università degli Studi di Roma "La Sapienza"

Follow this and additional works at: https://nsuworks.nova.edu/math\_facarticles Part of the <u>Mathematics Commons</u>

**NSUWorks** Citation

He, Matthew and Ricci, Paolo E., "Differential Equation of Appell Polynomials Via the Factorization Method" (2002). *Mathematics Faculty Articles*. 172. https://nsuworks.nova.edu/math\_facarticles/172

This Article is brought to you for free and open access by the Department of Mathematics at NSUWorks. It has been accepted for inclusion in Mathematics Faculty Articles by an authorized administrator of NSUWorks. For more information, please contact nsuworks@nova.edu.



Journal of Computational and Applied Mathematics 139 (2002) 231-237

JOURNAL OF COMPUTATIONAL AND APPLIED MATHEMATICS

www.elsevier.com/locate/cam

## Differential equation of Appell polynomials via the factorization method

M.X. He<sup>a, \*</sup>, P.E. Ricci<sup>b</sup>

<sup>a</sup>Department of Mathematics, Nova Southeastern University, 3301 College Avenue, Fort Lauderdale, FL 33314, USA <sup>b</sup>Dipartimento di Matematica "Guido CASTELNUOVO", Università degli Studi di Roma "La Sapienza", Italy

Received 8 January 2001; received in revised form 22 March 2001

#### Abstract

Let  $\{P_n(x)\}_{n=0}^{\infty}$  be a sequence of polynomials of degree *n*. We define two sequences of differential operators  $\Phi_n$  and  $\Psi_n$  satisfying the following properties:

$$\Phi_n(P_n(x))=P_{n-1}(x),$$

 $\Psi_n(P_n(x)) = P_{n+1}(x).$ 

By constructing these two operators for Appell polynomials, we determine their differential equations via the factorization method introduced by Infeld and Hull (Rev. Mod. Phys. 23 (1951) 21). The differential equations for both Bernoulli and Euler polynomials are given as special cases of the Appell polynomials. © 2002 Elsevier Science B.V. All rights reserved.

#### MSC: 33C45; 33C55

Keywords: Appell polynomials; Bernoulli polynomials; Euler polynomials; Differential equations

#### 1. Introduction

Let  $\{P_n(x)\}_{n=0}^{\infty}$  be a sequence of polynomials of degree *n*. For n = 0, 1, 2, ..., we define two sequences of differential operators  $\Phi_n$  and  $\Psi_n$ , satisfying the following properties:

 $\Phi_n(P_n(x)) = P_{n-1}(x),$ 

 $\Psi_n(P_n(x)) = P_{n+1}(x).$ 

0377-0427/02/\$ - see front matter O 2002 Elsevier Science B.V. All rights reserved. PII: S0377-0427(01)00423-X

<sup>\*</sup> Corresponding author.

E-mail addresses: hem@nova.edu (M.X. He), riccip@uniroma1.it (P.E. Ricci).

 $\Phi_n$  and  $\Psi_n$  play the role analogous to that of derivative and multiplicative operators, respectively, on monomials. The monomiality principle and the associated operational rules were used in [4] to explore new classes of isospectral problems leading to nontrivial generalizations of special functions. Most properties of the families of polynomials associated with these two operators can be deduced using operator rules with the  $\Phi_n$  and  $\Psi_n$  operators. The operators we defined in this paper are varying with the degrees of polynomials n. The iterations of  $\Phi_n$  and  $\Psi_n$  to  $P_n(x)$  give us the following relations:

$$(\Phi_{n+1}\Psi_n)P_n(x) = P_n(x),$$
  

$$(\Psi_{n-1}\Phi_n)P_n(x) = P_n(x),$$
  

$$(\Phi_1\Phi_2\cdots\Phi_{n-1}\Phi_n)P_n(x) = P_0(x),$$
  

$$(\Psi_{n-1}\Psi_{n-2}\cdots\Psi_1\Psi_0)P_0(x) = P_n(x)$$

These operational relations allow us to derive a higher order differential equation satisfied by some special polynomials. The classical factorization method introduced in [8] was used to study the second-order differential equation.

In this paper, we construct  $\Phi_n$  and  $\Psi_n$  for Appell polynomials  $R_n(x)$ . We then derive the corresponding differential equations by the factorization approach. As special cases of Appell polynomials, we also provide the differential equations for both Bernoulli polynomials  $B_n(x)$  and Euler polynomials.

We briefly recall some of the properties of these polynomials. The Bernoulli polynomials  $B_n(x)$ are usually defined (see e.g. [7, p. xxix]) starting from the generating function:

$$G(x,t) := \frac{t e^{xt}}{e^t - 1} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}, \quad |t| < 2\pi,$$
(1.1)

and consequently, the Bernoulli numbers  $B_n := B_n(0)$  can be obtained by the generating function:

$$\frac{t}{\mathrm{e}^t-1}=\sum_{n=0}^\infty B_n\frac{t^n}{n!}.$$

The  $B_n$  are rational numbers. In particular,  $B_0 = 1$ ,  $B_1 = -\frac{1}{2}$ ,  $B_2 = \frac{1}{6}$ , and  $B_{2k+1} = 0$  for k = 1, 2, ...

$$B_0(x) = 1$$
,  $B_1(x) = x - \frac{1}{2}$ ,  $B_2(x) = x^2 - x + \frac{1}{6}$ 

The following properties are well known,

- $B_n(0) = B_n(1) = B_n, n \neq 1,$   $B_n(x) = \sum_{k=0}^n {n \choose k} B_k x^{n-k},$   $B'_n(x) = nB_{n-1}(x).$

The Euler numbers  $E_n$  can be defined by the generating function

$$\frac{2}{\mathrm{e}^t + \mathrm{e}^{-t}} = \sum_{n=0}^{\infty} \frac{E_n}{n!} t^n.$$

The Euler polynomials  $E_n(x)$  can be defined by the generating function

$$G_E(x,t) = \frac{2e^{xt}}{e^t + 1} = \sum_{n=0}^{\infty} \frac{E_n(x)}{n!} t^n.$$
(1.2)

The connection to the Euler numbers is given by

$$E_n\left(\frac{1}{2}\right) = 2^{-n}E_n$$

The derivatives of  $E_n(x)$  satisfy

$$E'_n(x) = nE_{n-1}(x).$$

The Bernoulli numbers (see [3-10]) enter in many mathematical formulas, such as the Taylor expansion in a neighborhood of the origin of the trigonometric and hyperbolic tangent and cotangent functions, the sums of powers of natural numbers, the residual term of the Euler-MacLaurin quadrature formula.

The Bernoulli polynomials, first studied by Euler (see [6-9,2]), are employed in the integral representation of differentiable periodic functions, and play an important role in the approximation of such functions by means of polynomials. They are also used in the remainder term of the composite Euler-MacLaurin quadrature formula (see [11]).

The Euler polynomials are strictly connected with the Bernoulli ones, and enter in the Taylor expansion in a neighborhood of the origin of the trigonometric and hyperbolic secant functions.

A recursive computation of the Bernoulli and Euler polynomials can be obtained by using the following formulas:

$$\sum_{k=0}^{n-1} \binom{n}{k} B_k(x) = nx^{n-1}, \quad n = 2, 3, \dots,$$
$$E_n(x) + \sum_{k=0}^n \binom{n}{k} E_k(x) = 2x^n, \quad n = 1, 2, \dots$$

Some recurrent properties of the Bernoulli polynomials in terms of the Euler polynomials are also known, (see [7, p. xxix]).

The Appell polynomials [1] can be defined by considering the following generating function:

$$G_R(x,t) = A(t)e^{xt} = \sum_{n=0}^{\infty} \frac{R_n(x)}{n!} t^n,$$
(1.3)

where

$$A(t) = \sum_{k=0}^{\infty} \frac{R_k}{k!} t^k, \quad (A(0) \neq 0)$$
(1.4)

is analytic function at t = 0, and  $R_k := R_k(0)$ . It is easy to see that

- If  $A(t) = \frac{t}{e^t 1}$ , then  $R_n(t) = B_n(t)$ , If  $A(t) = \frac{2}{e^t + 1}$ , then  $R_n(t) = E_n(t)$ .

- If  $A(t) = \alpha_1 \cdots \alpha_m t^m [(e^{\alpha_1 t} 1) \cdots (e^{\alpha_m t} 1)]^{-1}$ , then  $R_n(t)$  is the Bernoulli polynomials of order m [2].
- If  $A(t) = 2^m [(e^{\alpha_1 t} + 1) \cdots (e^{\alpha_m t} + 1)]^{-1}$ , then  $R_n(t)$  is the Euler polynomials of order m [2]. • If  $A(t) = e^{\xi_0 + \xi_1 t + \cdots + \xi_{d+1} t^{d+1}}$ ,  $\xi_{d+1} \neq 0$ , then  $R_n(t)$  is the generalized Gould–Hopper polynomials [5]
- If  $A(t) = e^{\zeta_0 + \zeta_1 t + \dots + \zeta_{d+1} t^{n+1}}$ ,  $\xi_{d+1} \neq 0$ , then  $R_n(t)$  is the generalized Gould–Hopper polynomials [5] including the Hermite polynomials when d = 1 and d-orthogonal polynomials for each positive integer d.

These three polynomials have important applications in the theory of finite differences, in number theory and in classical analysis. These polynomials are closely related to corresponding sequences of numbers, namely the Bernoulli, Euler and generalized Bernoulli numbers. The differential equations satisfied by  $R_n(x)$ ,  $B_n(x)$  and  $E_n(x)$  will be presented in the following section.

#### 2. Differential equation for Appell polynomials $R_n(x)$

In this section, we derive a differential equation for the Appell polynomials  $R_n(x)$  and give the recurrence relations and differential equations for the Bernoulli and Euler polynomials as special cases of the Appell polynomials.

**Theorem 2.1.** The Appell polynomials  $R_n(x)$  defined in Section 1 satisfy the differential equation:

$$\frac{\alpha_{n-1}}{(n-1)!}y^{(n)} + \frac{\alpha_{n-2}}{(n-2)!}y^{(n-1)} + \dots + \frac{\alpha_1}{1!}y'' + (x+\alpha_0)y' - ny = 0,$$
(2.1)

where the numerical coefficients  $\alpha_k$ , k = 1, 2, ..., n - 1 are defined in (2.3) below, and are linked to the values  $R_k$  by the following relations:

$$R_{k+1} = \sum_{h=0}^{k} \binom{k}{h} R_h \alpha_{k-h}$$

**Proof.** Differentiating generation equation (1.3) with respect to x and equating coefficients of  $t^n$ , we obtain

$$R'_n(x) = nR_{n-1}(x).$$

As we have noticed in Section 1, the operator  $\Phi_n = (1/n)D_x$  satisfies the following operational relation:

 $\Phi_n R_n(x) = R_{n-1}(x).$ 

Next we find the operator  $\Psi_n$  such that

$$\Psi_n R_n(x) = R_{n+1}(x).$$

Differentiating generation equation (1.3) with respect to t,

$$\frac{\partial G_R(x,t)}{\partial t} = G_R(x,t) \left[ \frac{A'(t)}{A(t)} + x \right].$$
(2.2)

Next we assume that

$$\frac{A'(t)}{A(t)} = \sum_{n=0}^{\infty} \alpha_n \frac{t^n}{n!}.$$
(2.3)

Equating coefficients of  $t^n$ , in Eq. (2.2), we obtain

$$R_{n+1}(x) = (x + \alpha_0)R_n(x) + \sum_{k=0}^{n-1} \binom{n}{k} \alpha_{n-k}R_k(x).$$
(2.4)

This relation, starting from n = 1, and taking into account the initial value  $R_0(x) = 1$ , allows a recursive formula for the Generalized Bernoulli and Euler polynomials. We now use this recurrence relation to find the operator  $\Psi_n$ . It is easy to see that for k = 0, 1, ..., n - 1,

$$R_k(x) = [\Phi_{k+1}\Phi_{k+2}\cdots\Phi_{n-1}\Phi_n]R_n(x) = \left(\prod_{j=1}^{n-k}\Phi_{k+j}\right)R_n(x).$$

The recurrence relation can be written as

$$\begin{aligned} R_{n+1}(x) &= (x + \alpha_0) R_n(x) + \sum_{k=0}^{n-1} \binom{n}{k} \alpha_{n-k} \left( \prod_{j=1}^{n-k} \Phi_{k+j} \right) R_n(x) \\ &= \left[ (x + \alpha_0) + \sum_{k=0}^{n-1} \binom{n}{k} \alpha_{n-k} \left( \prod_{j=1}^{n-k} \Phi_{k+j} \right) \right] R_n(x) \\ &= \left[ (x + \alpha_0) + \sum_{k=0}^{n-1} \frac{\alpha_{n-k}}{(n-k)!} D_x^{n-k} \right] R_n(x) \\ &= \Psi_n R_n(x), \end{aligned}$$

where

$$\Psi_n = (x + \alpha_0) + \sum_{k=0}^{n-1} \frac{\alpha_{n-k}}{(n-k)!} D_x^{n-k}$$

is the operator defined in Section 1. We now determine the differential equation for  $R_n(x)$ .

Applying both operators  $\Phi_{n+1}$  and  $\Psi_n$  to  $R_n(x)$ , we have

$$(\Phi_{n+1}\Psi_n)R_n(x)=R_n(x).$$

That is,

$$\frac{1}{n+1}D_x\left[(x+\alpha_0)+\sum_{k=0}^{n-1}\frac{\alpha_{n-k}}{(n-k)!}D_x^{n-k}\right]R_n(x)=R_n(x).$$

This leads to the differential equation with  $R_n(x)$  as a polynomial solution.

For Bernoulli polynomials, we have the following results.

**Theorem 2.2.** For any integral  $n \ge 1$ , the following linear homogeneous recurrence relation for the Bernoulli polynomials defined in Section 1 holds true:

$$B_n(x) = \left(x - \frac{1}{2}\right) B_{n-1}(x) - \frac{1}{n} \sum_{k=0}^{n-2} \binom{n}{k} B_{n-k} B_k(x).$$
(2.5)

**Theorem 2.3.** The Bernoulli polynomials  $B_n(x)$  defined in Section 1 satisfy the differential equation

$$\frac{B_{n+1}}{n+1}y^{(n+1)} + \frac{B_n}{n}y^{(n)} + \frac{B_{n-1}}{n-1}y^{(n-1)} + \dots + \frac{B_2}{2}y'' + \left(\frac{1}{2} - x\right)y' + ny = 0.$$
(2.6)

For Euler polynomials, we have the following results.

**Theorem 2.4.** For any integral  $n \ge 1$ , the following linear homogeneous recurrence relation for the Euler polynomials defined in Section 1 holds true:

$$E_{n+1}(x) = \left(x - \frac{1}{2}\right) E_n(x) + \sum_{k=0}^{n-1} \binom{n}{k} e_{n-k} E_k(x).$$
(2.7)

**Theorem 2.5.** The Euler polynomials  $E_n(x)$  defined in Section 1 satisfy the differential equation

$$\frac{e_{n-1}}{(n-1)!}y^{(n)} + \frac{e_{n-2}}{(n-2)!}y^{(n-1)} + \dots + \frac{e_1}{1!}y'' + \left(x - \frac{1}{2}\right)y' - ny = 0,$$
(2.8)

where the numerical coefficients  $e_k$ , k = 1, 2, ..., n - 1, are linked to the Euler numbers  $E_k$  by the following relations:

$$e_k = -\frac{1}{2^k} \sum_{h=0}^k \binom{k}{h} E_{k-h}.$$

#### Acknowledgements

This paper was concluded on a visit of the first author to the Dipartimento di Matematica, Università degli Studi di Roma "La Sapienza", Italy, whose hospitality and partial support from the Italian National Research Council (G.N.I.M.) we wish to acknowledge.

#### References

- [1] P. Appell, Sur une classe de polynomes, Ann. Sci. Ecole Norm. Sup. 9 (2) (1880) 119-144.
- [2] H. Bateman, A. Erdélyi, Higher Trascendental Functions. The Gamma Function. The Hypergeometric Function. Legendre Functions, Vol. 1, McGraw-Hill, New York, 1953.

- [3] J. Bernoulli, Ars Conjectandi, Thurnisiorum, Basel, 1713.
- [4] G. Dattoli, C. Cesarano, D. Sacchetti, A note on the monomiality principle and generalized polynomials, manuscripts.
- [5] K. Douak, The relation of the *d*-orthogonal polynomials to the Appell polynomials, J. Comput. Appl. Math. 70 (1996) 279–295.
- [6] L. Euler, Institutiones calculi differentialis, in: Opera Omnia, Series Prima: Opera Mathematica, G. Kowalewski (Ed.), Vol. 10, Teubner, Stuttgart, 1980.
- [7] I.S. Gradshteyn, I.M. Ryzhik, Table of Integrals, Series, and Products, Academic Press, New York, 1980.
- [8] L. Infeld, T.E. Hull, The factorization method, Rev. Mod. Phys. 23 (1951) 21.
- [9] N.E. Nörlund, Vorlesungen über Differenzenrechnung, Springer, Berlin, 1924.
- [10] L. Saalschuetz, Vorlesungen über der Bernoullischen Zahlen, Springer, Berlin, 1893.
- [11] J. Stoer, Introduzione all'Analisi Numerica, Zanichelli, Bologna, 1972.